First problem

Early: (\)77*} ‘7 Early ‘7—8*> 15
A o 0 » D 1
| l |
Late: 0—7—7 L Late: 8 —8—
Task | Duration | Finish first (g, 03H3“>< Barly: 7—9—16
A: 7 mi Nothi
min | Nothing B+ E
B: 3 min Nothing | | |
C: 4 min NOthIDg L Late: 5*3—>8/ Late: 7T—9—
D: 8 min A, B (Barly: 0 4H4N><rEa1 4—6—10
rly: e T e
E: 9 min A, C v | | Y |
F: 6 min B, C C i i » F ?
L Late: 3744}7) L Late: 10—6—

(Float) Priority list:

Place the tasks on the 2 worker time-line according to the priority list.
5 10 15 20

You

Friend #1

(Latest start time) Priority list:

Place the tasks on the 2 worker time-line according to the priority list.
5 10 15 20

You

Friend #1

Which priority list worked better?

Now place the tasks where you think they should go:
5 10 15 20

You

Friend #1




Answers

Task | Duration | Finish first
A: 7 min Nothing
B: 3 min Nothing
C: 4 min Nothing
D: 8 min A'B
E: 9 min A C
F: 6 min B, C

Early: (l]—7—>|7
A o 0

| |
Late: 0—T7—7
Early: (|)—3—>i|’>
B s 5

| |
Late: 5—3—38
Early: 0—4—4
ch o

| !
Late: 3—4—7

(Float) Priority list: A=F>D>C>B>F

5

You

Friend #1

10

15

(Latest Start Time) Priority list: A>C>B>FE>D > F

You

Friend #1

Optimal

You

Friend #1

5

10

15

Early: ’|7—8—>1|5
» D 1 1
| |
>< Late: 8 —8—16
Early: T—9—>1|6
E o 0
| |
><L Late: 7T—9—16
Early: 4|1—6—>1|0
» F o 6
| |
Late: 10—6—16
20 25
20 25
20 25




Second problem

(Early: (‘)—3*&", Early: T—QH 14
A 2 2 > D o
| | |
Late: 2—3—5 Late: 5—9—
= J
Task | Duration | Finish first Barly: 0—5—5 ><’Ear1y: 3710
A: 3 mi Nothi
ST N S I
B: 5 min Nothing | | |
C: 1 min NOthIDg Late: 0—5—5 L Late: 7T—7—
D: 9 min A, B (Barly: 0 1*>1N><FEal 5—6—11
rly: e rly: i
E: 7 min A, C v | | Y |
F: 6 min B, C C (j i » F j’
L Late: 6*1—>7J L Late: 8—6—

(Float) Priority list:

Place the tasks on the 2 worker time-line according to the priority list.
5 10 15

You

Friend #1

(Latest start time) Priority list:

Place the tasks on the 2 worker time-line according to the priority list.
5 10 15

You

Friend #1

Which priority list worked better?

Now place the tasks where you think they should go:
5 10 15

You

Friend #1




Answers

Early: (|)—3—>T Early: T—9—>1|4
A 2 2 > D o 0
| | | |
Late: 2—3—5 Late: 5—9—14
Task | Duration | Finish first Farly: 0—5—5 >< Barly: 3—7—10
A: 3 min Nothing B (|] (|) E Jl JL
B: 5 min Nothing | | | |
C: 1 min Nothlng Late: 0—5—5 Late: 7T—7—14
D: 9 min A, B Early: 0—1—1 ><Earl : 5—6—11
E: 7min | A, C v | | v | |
F: 6 min | B, C C s 0 » F 3 3
| ! ! |
Late: 6—1—7 Late: 8—6—14

(Float) Priority list: B=D>A>F>E>C

5 10 15 20

You

Friend #1

(Latest Start Time) Priority list: F > E>C>D>A> B

5 10 15 20

You

Friend #1

Optimal

You

Friend #1




